MATH 102.6 (Term 132)
Quiz 1 (Sects. 5.3-5.5) Duration: 20mn

Name: ID number:

1.)(4pts)Use Riemann sum to write the integral fol(:c3 — 22%)dz as limit of sums.
Find the value of this limit.

2.)(6pts)Evaluate the integrals A = [6027vz* + ldz, B = ffl(:c + 2)(z + 1)%dz,
o == f ezttan(e‘)—ldt

et

.1 N —:.-L' ; ’f:?: -—':- | (o] 9
N NESRCICORES
C-ud) Ax e LnllS” @l) -1 () !
h=a L L= hr uo wal = Ao =
=l L5022 _ax ] ‘ 19
hy > "‘t_q—:—'; F) ﬂ%:g@{-() W oQM ,
= b L(M)Q_ z n(m)(z.,.}l _ ¢ u\o\ utoo
hs | h" z W7 G ] —_ [{_OT =X —lo-"‘; .
= L.k -5 _ 1 e
“ ¢ /lL B T}:r* o0~ loloo
2:) ﬂr'—SGo'x Vx| AX C= f Wlame = A
ot
k™ a = w8
u= N (A)&Ax L u- ».\" 9 Au= 2 At
.57 Au— N—-A d("" —é"‘i"
ol e EA=d = e
- Y"—ou‘ -—\ 0(\4
7 (i) e = b | (e [ e
_ oL\
) e = (YJ (wm) w b L = f@“"“ m«\
C
c\r[é Sk ‘L_(f?_h') il :’tn\(»Su\ ‘\t X
3 v {
! GO fr—lh[a;el—t—;-l—C
= G(**‘) = o (we) +C =




